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QUESTION 1

What is one difference between how administrators can use the Mobility Master (MM) Interface as compared to the
AirWave Management Platform?

A. AirWave shows trends for the past several minutes, while MM shows historical data.
B. MM shows trends for the past several minutes, while Airwave shows historical data.
C. AirWave shows the current signal level for the client connection, while MM does not show RF statistics.

D. MM shows user and role information associated with clients, while AirwWave does not.

Correct Answer: B

QUESTION 2

Refer to the exhibit.

e - TRAFFIC ZE5MB | 397MB! APPLICATIONS 74 DESTINATIONS 150 HOSTS i7 WEBSITES "18  SESSIONS 100

Qusriiey APPLICATIONS DESTMATION

MRS Shaw apploations by eategariss W Shuw certinalione with Righest vzage w7

| Tratie Analyuis
checkn 4-dea . |

Services .:Hi;. v 2C1core N —

Canfigurstion hitps — encrypted gobaldafy.
SRS - u sl dmcdnne!  [—

Maintenanze ..

- merchantont. S
74 applications curranty in use U 20 400k GO0k 2004 1000K V3K 14
Lot (bt
150 deshimations a7 currenty achve

HOBTS e WEBSITES
Show wab=iles by web categories W

Bhow b with highest usage W

Tulzka
SSWESNET

rmery

mahanmy

computatiintemet

financial servces _
info

business econamy

internet portals

sociely

bt frdirdd avan
© 200k J00¢ BODK BOOE 1000K 1200k 14002 96 .
Usage inifes) 11 visited webs t2s
37 hosts ars corently azive

The exhibit shows output from a Mobility Master (MM) dashboard. What is a valid reason for the administrator to click
the akamai square under applications?

A. to see the break down for only the roles, destinations, WLANS, and devices that use this application

B. to download a report about the usage of this application over time

C. to create filter rules in order to control wireless user access to this application

D. to set up bandwidth rule in order to control wireless user access to this application

Correct Answer: A
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QUESTION 3

A company has an Aruba Mobility Master (MM)-based solution with a WLAN that assigns users to VLANs 10-19. The
company wants the Aruba solution to act at Layer 3 to route wireless user traffic. What must network administrators
configure to permit the solution to forward traffic correctly?

A. VLAN 10-19 interfaces and proper IP settings on the MM nodes

B. trunk ports that support VLANs 10-19 on the managed Mobility Controllers (MCs)

C. VLAN 10-19 interfaces on the Mobility Controllers (MCs) as the default gateway for wireless users

D. trunk ports that support VLANs 10-19 on the MM nodes

Correct Answer: C

QUESTION 4
What is one difference between captive portal authentication and 802.1X authentication?

A. 802.1X authentication always authenticates the wireless client, while captive portal authentication always
authenticates the wireless user.

B. 802.1X authentication occurs at Layer 2, while captive portal authentication occurs at Layer 3.

C. 802.1X authentication must use an LDAP server, while captive portal authentication can use a RADIUS server or an
LDAP server.

D. 802.1X authentication is typically implemented without encryption, while captive authentication is often combined with
WPA or WPA2.

Correct Answer: B

QUESTION 5

An Aruba Mobility Master (MM)-based solution has a WLAN that uses WPA2-Enterprise security. A test
login on a wireless client fails.

How can a network administrator determine whether the RADIUS server rejected the credentials or
another issue occurred?

A. View Technical Support information for the MM.

B. Ping the IP address configured as the RADIUS server.

C. Use the MM AAA Server Test Diagnostic tool.

D. Use the tools in the MM Dashboard > Security window.
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Correct Answer: C
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